Klassendiagramm

ExamTask02

+ main(args: String[])_ void

/

«abstract»
Device

-allDevices: ArrayList<Device> { final }
#os: OperatingSytem { final }

+Device(os: OperatingSystem)
+isSecure() : boolean { abstract }
+toString() : String { abstract }
+getAllDevices()_: ArrayList<Device>

0

extends

Laptop

- MINIMUM_VERSION: int = 22
- version: int

Phone

- encrypted: boolean

+Laptop(os: OperatingSystem, version:
+isSecure() : boolean
+toString() : String

int)

+isSecure() : boolean
+toString() : String

+Phone(os: OperatingSystem, encrypted: boolean)

«enumeration»
OperatingSystem

WINDOWS ='W'
ANDROID ="A"
MACOS = 'M'
10S ="

LINUX ='L"

- name: char

OperatingSystem(name: char)
+ getName() : char
+ isMobile() : boolean
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